UxxcRh

JUEGO DE DADOS
Y ACCESORIOS

n
ee| @ | m (28

USO PESADO PULGADAS | CUADRO | PIEZAS

Qy‘:;:Lf
. ‘b 1‘.
\"‘l;'x\c"/

c6oiGo PIEZAS ]| ] N A
23 4 1

57104 28 1



UXX=A CONTENIDO

S o | osowon |

1116"

11/8"

114"

15/16"

13/8"

17116"

112"

15/8"

113/16"

17/8"

5734

5736

5740

5742

5744

5746

5748

5752

5758

5760

Dado 1-1/16" 12 puntas 1-1/16"
Dado 1-1/8" 12 puntas 2-3/8"
Dado 1-1/4" 12 puntas 2-7/16"
Dado 1-5/16" 12 puntas 2-1/2"
Dado 1-3/8" 12 puntas 2-1/2"
Dado 1-7/16" 12 puntas 2-9/16"
Dado 1-1/2" 12 puntas 2-9/16"
Dado 1-5/8" 12 puntas 2-3/4"
Dado 1-13/16" 12 puntas 3"

Dado 1-7/8" 12 puntas 3"

e o | osowon |

on

218"

23/16"

21/4"

23/8"

212"

24/16"

258"

23/4"

215/16"

5764

5768

5770

5772

5776

5780

5782

5784

5788

5794

Dado 2" 6 puntas 3"

Dado 2-1/8" 6 puntas 3-3/16"
Dado 2-3/16" 6 puntas 3-3/16"
Dado 2-1/4" 6 puntas 3-3/16"
Dado 2-3/8" 6 puntas 3-5/16"
Dado 2-1/2" 6 puntas 3-7/16"
Dado 2-9/16" 6 puntas 3-9/16"
Dado 2-5/8" 6 puntas 3-9/16"
Dado 2-3/4" 6 puntas 3-11/16"

Dado 2-15/16" 6 puntas 3-7/8

3

318"

312"

1"X26"

1'X8"

1"X16"

1"X28 172"

5796

5800

5812

5849

5861

5863

5885

5495

S o | oo |

Dado 3" 6 puntas 4-1/16"
Dado 3-1/8" 6 puntas 4-1/16"
Dado 3-1/2" 6 puntas 4-3/8"
Matraca reversible 26"
Extensidn regular 8'

Extensidn regular 16"

Barra corrediza 28-1/2'

Caja metdlica



